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3. —HEE 100kg, {#H 20%, FHIEH 20%, BIAEXMMEC )
kg.
A. 96 B. 80 C. 100 D. 120
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x=0.874
T 1. 2800+(20%+50%)
=2800+0.7=4000(kg)
2. (250—200)+250
=50+250=20%
Ny 1200 [RARIKRER T B2 )L, ZEH RS R ER LUR
160-(640+160)
=160-800
=20%
2. 270 [Ri$R]1530+(1—15%)—1530
=1800—1530
=270(JT)
3. 10325 [ A #£]10000x3.25%x1 =325(7G), 10000+ 325=
10325(7G).
4. 150
[ETR]  96=[(1—20%)*x(1—20%)]
=96+0.64
=150(mL)
.1 (1.25—12)+12
=0.05+1.2
~4.2%
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3. M WCHEERZAL LE Y —ILH x A
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x=500
% HEERKIEAL) LE ) — 3 500 A,
4. 600x25+20=750(m)
(750—600)=600
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=25%
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